ASSISTANT AGRICULTURAL OFFICER (17.04.2021)

1.

The wettability of a surface by a liquid depends primarily on

a. viscosity

b. surface tension

c. density

d. angle of contact between the surface and the liquid

e. Answer not known

@ UJLIeOL @(hH HIUHIHT6D FJOTHGD DIEN6Y (PSHTMOWITS FTTHIHI6TNH

a. UTGbHlenev

b. uriiNuelens

C. OILTH5)

d. uniyss FHrusHBSHD B B o eten GFTBHTewID

e. alewL G flwalsdeney

Consider the following pairs:
I Rukmani Devi Arundale - Kalakshatra
IT Ravi Shankar - Sangeet Natak Academy
III M.S. Subbulakshmi - Raman Magsaysay Award
IV ]. Krishnamoorthy - Bharat Ratna

Which of the pair given above is/are incorrect?

a.land IV only b. IT only

c. Il and III only d. IV only

e. Answer not known
CaBTHHBLILL BelTen Benenideiled 6 / eTemel HaupTaremnal eel GBUIIBS.

I. (mébemil Bmhal SiHewIGL 6D - &60TBa ST

II. goi gmsT - FHBSSH BILE Feml
III. emnb.eterd. &liLevl &iLo - guaT 1wHEFCF al(mEl
IV. Gxm. SmajeurepTshd) - UMyg 60T

a. [opmpp IV o Bib b. II wr @Bw

c. Il wpmnp I ol Bib d. IV @G

e. alemL G flwaledensv



IUCAA stands for

a. Indian University Centre for Astronomy and Astrology

b. International University Centre for Astronomy and Astrophysics
c. Italian University Centre for Astronomy and Astrophysics

d. Inter ~University Centre for Astronomy and Astrophysics

e. Answer not known

IUCAA- aier aifleunssid

a. Indian University Centre for Astronomy and Astrology

b. International University Centre for Astronomy and Astrophysics
c. Italian University Centre for Astronomy and Astrophysics

d. Inter -University Centre for Astronomy and Astrophysics

e. alowL  OFfwalsdensv

Match the following Indus Valley Civilization, Geographical Area with
the Settlements:

Geographical Area The Settlements

A. West 1. Alamgirpur

B. North 2. Daimabad

C. South 3. Shortugai

D. East 4. Sutkagen-dor
A B C D

a. 4 3 2 1

b. 1 2 3 4

c. 4 2 1 3

d 2 4 3 1

e.  Answer not known

Fbg praflashder Smwall HmSHUuD GQUITHLILGSMETUD OILIT(HIHSHIH:
Holulwied Slenoaill b GSIQUI(HLIL|&B6IT

A. CuoBa 1. S&LeLIb&ITT

B. e & 2. MSHOTUTSH

C. OB 3. amiim Bensd

D. Aipss 4. FU_BTOEILIT
A B C D

a. 4 3 2 1

b. 1 2 3 4

C. 4 2 1 3

d 2 4 3 1

e. allew  Oxfuwealedensv



Assertion (A) : Since the moon is smaller than the earth, it has 1/6
of the gravitational pull of the earth

Reason (R) : So the man weighs 16 times less on the moon than
the earth.

a. (A) is True, (R) is False

b. Both (A) and (R) are True and (R) is the correct explanation of (A)

c. (A) is False, (R) is True

d. Both (A) and (R) are True but (R) is not the correct explanation of (A)

e. Answer not known

aBm (A): FhaHger Lalemweall FBlug aTaIUSTe DIHT FILL Fha)
Lelulesr miiy gbduied 1/6 wLmig L HGLw.
smyenid (R): a16iBeu  LOGNIHTHGT FhHHTeled Lalenwal 16 OLMIE 6lenL,

GMBEUTH  E(HLILITTSHEI.

a. (A) gfl gemed (R) seum

b. (A) wBp (R) e f eemed (R) eemg (A)-albg  afwmer
allend LD

c. (A sap gemed (R) &l

d. (A) wppd R) @rewiGd af opemed (R) eaiug (A)-albg Fhluwimer
D1f:: N

e. alemL Ggflualedenev

____poem was composed by Gangadevi.
a. Manucharitram b. Amuktamalyada
c. Panduranga Mahatmiyam d. Madura Vijayam
e. Answer not known
oI HIT6N60 HHRISTCHF 6T(LYH6OTTT.
a. giFfdhym b. @ypdbHioTeOUIST
C. UTewI(BIMmIsS LOSTHLOUILD d. wgyTeleguib
e. alemL OFfwealeoensv

Which of the following is incorrectly paired?
a. 1 astronomical unit - 1.49 x 1011 m

b. 1 light year - 9.46 x 101> m

c.1fermi - 10 m

d. 1 Atomic mass unit - 6.17 x 10->” kg

e. Answer not known

SLDHHENILUBMIET 615 SHUBTs CUTHSHSLUILIL (HeiTerngl?
a. 1 amadilwied ovE 1.49 x 1011 15

b. 1 geflwmewi 1.49 x 101 18

c.1@umd -10715.8

d. 1 gigmmeon oeoE — 6.17 x 107 A



10.

11.

e. alewL OFMwalsdensy

Shuddi movement was started by

a. Dayananda Saraswati b. Swami Vivekananda
c. Ramakrishnar d. Sri Narayana Guru
e. Answer not known

&5 BUSHHMS OCGHTL mIFULIeUT

a. HUTHS FJeroeudd) b. seumfl a1GeusmebsiT

C. @Jmp &([HaesuTeT d. nf mrgmwent &

e. alewL Gy flwalsdenev

Which pair of elements has the similar chemical properties? (Z means
atomic number)
a.Z=14;,72 =22
c./Z=47=21

e. Answer not known
eteumd ebd Gmmg HeliomiseT Hsh CaudlliLcusemen CuBDIeTeng? (Z =
S| 6T600T)

a.Z =147 =22 b.Z=11;Z =19
c.Z=472=21 dz2=2,Z=4

e. alewL G fwailsvenev

Which of the following article of Indian Constitution deals with election
commission?

a. Article 324 b. Article 325 c. Article 323
d. Article 326 e. Answer not known

CxiTmHed SpmenibHmd LB allend@Gl DFdlwevenioliy] alg)

a. alg 324 b. alg 325 c. afld 323
c. allg 326 e. alewL OFfluialedensv

Which one of the following reduces Tollen’s reagent?

a. Formic acid b. Acetic acid

c. Benzo Phenone d. Benzene

e. Answer not known

LTeTaU(HAUGTOUMBMIGT 61h&H @6l LMTevaiieny allenennd SHrJenienul bHHESImSHI?
a. urmis Sflevld b. &l gs Sdlevid

c. GQueiGam LiGeorment d. Queidest

e. alemL OFflwalevensv



12.

13.

14.

15.

Which year was introduced proxy voting system for on their behalf of
those who serves in Military?

a. 2003 b. 2004 c. 2010 d. 2018 e. Answer not known

b Deih BTamiaudHHled Ueml UfuauTeeT Smhiseler Friurs udHeldl auTsE
SleMdbGD (s OBTewi(h euFill L gl?

a. 2003 b. 2004 c. 2010 d. 2018 e. alewL G flwailsdenev

Which one of the following fertilizer has the highest nitrogen content?
a. Super Phosphate of lime

b. Calcium Ammonium Nitrate

c. Urea

d. Ammonium Sulphate

e. Answer not known

SIPHBTEID 2 _JhIG6MN6D 61FH DHH D66y MBLTRmIH CldTenBHeiTend)?
STeLFWID GLIUT Lmero@GuLi

sTeodlwb IbGoTenwid enpL Gy

ugfwm

IDBomeflwid FeoGur.

alewL Gz fluiailsdensv

a0 ow

Who among the following elected as a Temporary Chairman of the first
meeting of the Indian Constitution Assembly?

a. ].B. Kiripalani

b. Dr. Sachchidananda Sinha

c. Dr. Rajendra Prasad

d. Dr. B.R. Ambedkar

e. Answer not known

OhHU TFMIOLIL HiTenewl FeoL —(1pH60 Fnl L SHHAT HBHTeUH HMELATTH
Gaxitey GEFuiwli’ LeuT wimt?

a. Gm.9. Smuenmen b. LrsLT. gFfgrenns Feamr

c. LmaLTImCxhbaly Ursns d. LrsLm. 1.eyr. onbGughasit

e. alewL O flwealsdenso

Which of the following statement is incorrect regarding blue green algae?
a. The thallus is unicellular

b. The reserve food material is cyanophycean starch

c. Absence of mucilage around the thallus

d. Sexual reproduction is absent

e. Answer not known
SLPSHHEMILUBMIET HELLILIGLD UTHSH6T LUBBL HeUBTeT SnBml 6157



16.

17.

18.

19.

a. @ 0561 2 L 6VenloliL] (&HT6V6M)

b. Gzl o _ewiey FWGe. .enUAWT HIFID SLGLD

C. ] 2 L WHmHF Gbhd WFGeogy Lo STerlILBeaISH 06060
d. uTedeMIOLIHBHBID HTERILILIHEIFH M6V

e. alemL G flwaledensv

On a palm tree of height 32 cubit, a chameleon tried to reach the top of the
tree. If it climbed one hand span on it but slipped four fingers on one day.
How many days will it take to reach the top of the tree?

a. 96 days b. 69 days c. 94 days d. 64 days

e. Answer not known
32 (b 2 LWl umeoyshFHed, UFCHTHL @ImI L o Fdmul  SiewL Ul
PWeEDS. @b BIDMES @h st gBl B oljed &6 GphGaBs

61601160 LD o Fdlemw SlenL_Ll WEZCE:4115) 618556060 (BTG 66T
1(hSHHIH0BTeITEHLD?
a. 96 [HICTHE b. 69 mreiHe C. 94 [B6lTH6I d. 64 ®mrelmel

d. elewr Gxfweaievensv

P, Q, R, Sand T are sitting in a circle facing the centre. If R is immediate
left of T and P is between S and T, who is to the immediate left of R?

a.P b.Q c.S d. T d. Answer not known

R LI, e L eowsHmgd Curdsd P, Q, R, S wmpid T &G
SIoThGleTenenT. T eleaumebE SLUUBD SBHISLLuITE R eemeumd, S
s T gdw Bmaumesed DeoLBuw P eemeaumd  SIDTHESHLILITTSET
aaiey, R eraieumed LB DIGSHSLILQUITES DIDTHSHIGT6T [HLT WImT?

a.P b.Q c.S d. T d. el Gxfwelsvensy

The value of a motor cycle 2 years ago was < 60,000. It depreciates at the
rate of 5% per annum. Find its present value.

a. < 54,000 b. < 54,050 c.< 54,500 d.< 54,150

e. Answer not known

B FEEJ aMHIID SN alemed 2 auihEHEhdE (a1 X 60,000 SiH
Bnbsa.  oips LAY oWECHTHD 5% efsd  GOBEDH.  iB6
SBOUTEHHWI OFHIDLIS HT6EwI5S.

a. < 54,000 b. < 54,050 c. < 54,500 d.< 54,150

e. alewL G flwalsdenev

A and B invest in a business in the ratio 3 : 2. If 5% of the total profit goes
to charity and A’s share is X 855, then the total profit is
a.3 1,425 b.< 1,576 c.X 1,500 d.<1,537.50



20.

21.

22.

23.

e. Answer not known

A oBpib B @maut @@ 0smflsd GaTLmes 3 @ 2 seim aldeHsHed (1pHeddH
Q&FUIZHI6ITETEOTT. QrHs BeoTLSSHled 5% AEIENIC) BBIeITHSHBS
aPBIGILGHBE. wBEID A & ukiE I 855 eafled QOTSHSH E6OTLID 6TebT6n?
a.< 1,425 b.% 1,576 c.X 1,500 d.<1,537.50

e. alewL Gy flwalsdenev

The HCF of two numbers is 2 and their LCM is 154. If the difference
between the number is 8 then the sum is
a. 26 b. 36 c. 46 d. 56

e. Answer not known

B eewidefledt 5.6l 2 @BmId  SeuBpsler ... 154 Seual
T B EHHHenLCuw o aiten Coupt@y 8 eTedlled SlouBBIET Fn(HFHev

a. 26 b. 36 c. 46 d. 56

e. allewL  OFflwalsvensy

Which article provides the Constitutional Remedies to the citizens at
Supreme Court of India?

a. Article 21 b. Article 226 c. Article 32

d. Article 18 e. Answer not known

absd SLLL Ufle @b o F& BB peold BhHU HYLEBEHES
SIIFmOLLY U LUfASTID OuBusBG ol CFuISeamE?

a. oFluwed Semwliy L indfley 21
b. 9pdflued semiiy g Linife 226
C. 9Ifluwed sl FULlnlfley 32
d. 9pflwed oemiy s Liife 18
e. alewL G fwalsdenev

The taxonomy which involves the similarities and dissimilarities among
the immune system of different taxa is termed as

a. Chemotaxonomy b. Molecular Systematics

c. Serotaxonomy d. Numerical taxonomy

e. Answer not known

LeoGouml euemaslLL L HTeuy CHTOWISITIL LOWIL 60SHH6T  QBBINOSHET  LOBHILD
GouBmIenLod6lT DI RIS eUenSLILTH

a. Gaugdlw suemaLILITH b. cpeudanml aUEMBLILTLT B SIHIOLIL| (LPewDs
C. oapiTgmT euemSLILIT({H d. eremremiuicd euamSBLILITH

e. alewL G flwalsdenev

Match the List [ with List II



List I List I1

A. Article 14 1. Abolition of titles
B. Article 15 2. Equality of opportunity in public employment
C. Article 16 3. Equality before law
D. Article 18 4. The Prohibition of Discrimination
A B C D
a 3 4 1 2
b. 1 3 4 2
C. 4 2 1 3
d 3 4 2 1
¢ Answer not known
uCigwed Teg uluwed II o a1 QUTHGHHIS.
U iguied I uCiguied 11
a. grsHaE 14 1. UL msemen eLfldhsHe0
b. gyHH 15 2. 95F GeauamevaumulliL|®Here0

DIMTU(HBGHID FLOGUTUILIL]
. FLLSHT (1p6T SIMETGU(HLD FLOLD
. UT@UT(H SHTewILmS HenL CFUIHeD

Q. n
& 3
G G
@ &
= o
AW

© o0 o
W N = W
[\

alewL G flualsvensv

Which one is the common stage for both aerobic and anaerobic
respiration?

a. Glycolysis

b. Krebs cycle

c. Tricarboxylic Acid Cycle

d. Oxidative Phosphorylation

STBH WLBDID STBHBleveTF FeuTdSHHeder CLTHIEUTET Hlenev 61%HI?
a. SHMSHBTEnEVS6rd

b. &ylierd FHpmd

C. Lengamiiurdenielld Siflev &FHipmdl

d. eusemimGeams umerdLIfayewID

e. alewL G flwalsdenev



25.

26.

Which one of the following statements about a money bill is not correct?

a. A money bill can be tabled in either House of Parliament

b. The speaker of lok Sabha is the final authority to decide whether a bill
is money bill or not

c. The Rajasabha must return a money bill passed by the lok sabha and
send it to consideration within 14 days.

d. The President cannot return a money bill to the lok sabha for
reconsideration

e. Answer not known
SIPEBTEID H[HSHHIHH6Me0 6lhdH eIl Lewl WCFTHTHET LMY Heummend?

a. uewt WBFTHTHT IBI(LPHLIOTEHIH LUTTTEHLOON &(H Dienauberiled 6CHemIld

@I Slmaiuled SPlwsd GEuIwlL@BD
b. éx6T  Slemer  FUMHTWST WEFTHTHET SleVevH  FTHTTewT  CFTHTFEUT

oIe0ImI (P96 GFUIGUT.
C. uewt wWECFTHTMeY OUTBIGHSH 6UMT LOTHILVMIBET Sewed 14 BT HEHHE 6N

DS H6T lmaldb@ LiMdlevener OFuig emeudbs GeauemiBLd
d. uewr WCFTHTMe OUTBISHHAIMI GHIQUITSH HEMEOAUT WBILITVMEISE LDHDB6I

Slmalsg WEFTHTme H(HULT DIl BuleoTSl.
e. alowL G flwalsdenev.

Match the following minerals with its deficiency symptoms?

A. Exanthema in citrus 1. Zinc

B. Hooked leaf tip 2. Copper

C. Little leaf 3. Potassium

D. Curled leaf margin 4. Calcium
A B C D

a. 2 4 1 3

b. 2 3 4 1

C. 3 2 1 4

d 1 2 3 4

e. Answer not known

CaThaaLIuL (Beiten Hellomisaier LBBTHGmB ChTul oImlEHNssErHL 6ot
QUT(HGHSHIH:

A. dlged FTaurHFHe0 e1HFTHISIOT 1. SHSHSHHTHLD
B. Gansd Gumes &emev mieofl 2. STOFLD

C. dpplenso Crmul 3. Qum’Lmrdlund
D. @mev alafliby gimeigHe0 4. sTeodlub

A B C D
2 4 1 3
2 3 4 1
3 2 1 4



27.

28.

29.

30.

d 1 2 3 4
e. alewL g flualsvensv

Which year, the Indian Parliament had passed the “Protection for women
from Domestic Violence” Act, to provide justice and protection from
violence within their homes.

a. 2003 b. 2004 c. 2005 d. 2006

e. Answer not known

b SLeWI(H LIMITEHOSIBLD (BhHW) GBHOU  euei(lpens  OLIwTS6T LTSHISTUILEF
FLLSHMS Bupnlwig)

a. 2003 b. 2004 c. 2005 d. 2006 e.alenL O flwalevenev.

Select the correct sequence of origin and conduction of heart beat in
human being

a. AV node-bundle of his -SA node-Purkinje fibres

b. SA node-Purkinje fibres ~AV node bundle of his

c. Purkinje fibres -SA node-AV node -bundle of his

d. SA node-AV node -bundle of his Purkinje fibres

e. Answer not known

BFHUSHHTWIL 60 HloUdbH(IPD, GHBIILUGSHSHISHeID HewL QLpID Hobaler Filuime
auflengenw CxTHOHMH

AV sayl-anleteniell HemFshsBens —SA Heml LiTHeres @enip
SA say —LTdHared G -AV sapranlervede HnFHHBens
Uty @emp -SA sam —AV-anflerbenien HendFobHiennm

. SA sanI-AV san-afferveniel HmFHEBenB -LTH R @enlp
alewL G flwailsvensv

00 o

In which year were Electronic Voting Machines used first time in India?
a.1998 b. 1997 c. 1996 d. 1999

e. Answer not known

BpHuraled WS (PWHeded 6HGH UMIB ST UTHEG LFHe  HIHTLD
(EVM) uwemu@ssiiiLg?

a. 1998 b. 1997 c. 1996 d. 1998 e. alewL  Gxfuwalsensy

Select the disease for which the first synthetic vaccine was produced for
the first time in the world
a. Polio b. Hepatitis B c. Rabies d. Chickenpox

e. Answer not known
2 FHL (PFHEL (PHeUeL SSHeWIL  6hsH CHTuISE OFwmemns  HHLULT
St pSluii’ L g)?

10



31.

32.

33.

34.

a. GumedGuur b. Geamtiuen Ligerd B c. Grierd Gmmul
d. fetenbenio e. alenL Oxflwealsdemev

Who give permission to produce State Budget?

a. Prime Minister b. Minister

¢. Chairman d. Governor

e. Answer not known

plg Hemev SPibend THeVRISEHHE Dmiod Wi Gup GeueasiBd?
a. ysio wphAHM b. omwFFTHer

C. HEM6LAUT d. suemnmT

e. alemL OxMwalsdensy

Which Bacterium Synthesize biodegradable plastic?

a. Thermoplasma b. Methanobacterium c. Halobacterium

d. Ralstonia e. Answer not known

abd urdlefwbd o ulfl eufl HodeaumLujld Heaeww ORIl  GBEHIHemul
2 BuUSHFH OCFUISBSHI?

a. OxTGTemTerom b. GuggGarmLimdslefuid c. amr@eorumslefluib
d. grevGeurundleflwd  e. il Gxnfulalevemsv

The National Commission for Women was setup in
a. 1989 b. 1990 c. 1992 d. 1994

e. Answer not known

QuenTBEHHHTET CHFAUI HLEMETUID SHIMIDHBLILIL L SL60T(H

a. 1989 b. 1990 c. 1992 d. 1994
e. alewL G fwalsdenev

An extraction of tender leaves of papaya and herbal drink nilavembu
kudineer is given to dengue patients, which increases in the
human blood.

a. RBC b. WBC  c. Blood Platelet Count d. Both (A) and (B)

e. Answer not known

utumed  @enevdeilet  QBTUHSHNHHSH  aBSHSIULBH  6ugHL L LI L
SHryeud wBmID  BHlevBeulb] SFTWID SBHwiemer OLmIG GBI UTSHSSIIL L
CrrwelaseEndEd OHFTREHIILGHBH. B BJHHHIH 6L
oTewTenNSHMmBMUI  HIFH BT HHBH.
a. RBC-er eremtemildbenas
b. WBC-ei1 erewienidends
C. Q1555 S BF6N6 6lewienldbend
d. (A) wipd> (B)

11



35.

36.

37.

38.

e. alemL G flwalevenev

Under the Constitution of India which one of the following is not related
to fundamental duties?

a. To develop the scientific temper

b. To vote in public elections

c. To safeguard public property

d. To abide by the constitution and respect its ideals

e. Answer not known

spaTapld  alHselled 6hH @M GOhHU  STFHuisd eIl  DIGLILIDL
SLmseler auflengamw FTThbHH Dle06v?

a. oplalwed GCamiur®, welsCHWID  ITUIFF  WeIILTEMD  HBBID
FTHHHBHID DB UIAIBENDB  AUCTITEHFH60

QuTE BHTHELH6MED UTDHH6IEHFH60

auali(emBW MBI B CUTH CFTHHIHHMET LITHISTEHH60

SITFmLULIBGE SHUYbHSH DISBE WAWLTHS i6lldHdHe0
allenLOHfwaledensv

o &n T

Which of the following cannot be the HCF of two numbers whose LCM is
120?

a. 60 b. 40 c. 80 d. 30

e. Answer not known

120-y 5.8, — oHd OFTewi G s EhdGL  Llaeumd  6hS
oTeuTenITendHl DjeuBNledt 15.0L.6U.-Ld EHEHS SUIeLTH.

a. 60 b. 40 c. 80 d. 30 e. allewL  Gxfwalsenev

By selling a bicycle for X 4,275, a shopkeeper loses 5% for how much
should he sell it to have a profit of 5%?

a.<4, 625 b.X 4,725 c.X 4,825 d.< 4,925

e. Answer not known

FHeuewig @B @F HMLESTT I 4275 5@ IBUSHT DaBHEG 5%
BULLD gBUBGHBa eeflsd 5% eumud GuUB GeauewiBOLaled SeuT Ldeuemgenul
oaiienl elenevd@ alms GeuemiBLd?

a.3 4,625 b.X 4,725 c.34,825 d.< 4,925

e. allew  Oxfuwealedensv

A number when decreased by 20% gives 80. Find the number.

a. 40 b. 60 c. 100 d. 120
e. Answer not known

12



39.

40.

41.

R  oewiememt  20%  GMBHHTL 80 HewLEABHI 61N Db  6leNTeNENTD
SHITCII.

a. 40 b. 60 c. 100 d. 120 e. alenL  Gafuwiealsvensv

If the median of a, 2a, 4a, 6a, 9a is 8. Then find the value of ‘a’

a.8 b. 6 c.2 d. 10

e. Answer not known

a, 2a, 4a, 6a, 9a Qa1 DML Blemev 8 el@IBTEL ‘@’ BT EemL MHeNEVUIeTa)]
a.8 b. 6 c.2 d. 10

e. alonL  OFfwalsdensy

The median of the data 24, 29, 34, 38, 35 and 30 is
a.29 b. 30 c. 34 d. 32

e. Answer not known
SIS 24, 29, 34, 38, 35 wmmid 30 B&T Gl [HenEVUIGTE)
a.29 b. 30 c. 34 d. 32

e. allewL  OFflwalsvensy

Read the sentences below and give the correct answer:

Assertion (A) : Extinction is defined as the permanent disappearance
of an organism from the face of the earth.
Reason (R) : Climatic change accelerates the competition between

large mammals for shelter and food
a. (A) Wrong (R) Correct
b. Both (A) and (R) are Correct
c. (R) does not explain (A)
d. (A) only correct

e. Answer not known
&6 CBETHSHBLILIL (BH6Ten aUTHHWmISmeTl Ligshdl Fllwmer allenL wierlldbaea)Lb.

gBm (A): QIHSHICUTHL eI @b Beold Lelevw el G wpBleid
wenBhEH GUTeuHTGLD.

smyenrd (R): HT60  [HleMev LOTBMHIGET GUIHLD LT 19HEhdHE &enL Gul
2 e BHTHELD B SHFHBHTHLD Guim’igemul
Sl ILBSSISBS).

a. (A seup (R) &l

b. (A) wimb (R) SyeiiGn &
c. R) — (A)-omeu alendsalevensy
d. (A) @G &f

e. alewL Oz Mwealsdensv

13



42.

43.

44.

Who among the following control the entire financial system of the
country at both the level central and state is?

a. Reserve Bank Governor

b. Finance Secretary

c. Comptroller and Auditor General of India

d. Niti Aayog Secretary

e. Answer not known

DHHW, OBV &SN &SP SumGD Orhs BHiFH  Demoliiene
S BUUGSHBID HFHSTID wrilLb o eiteng)?

a. Mgl eumdluller Sy EHHT

b. HFHzmB CFuwieoT

C. @hFHU HMEVEMID HEWISHG 5H60016NHUITENIT

d. B8 o8urns - GFuweoT

e. alewL G Mfwalsdenev

Choose the character not present in reptiles among the following,
1. Mesonephric kidney

2. Scales

3. Uricotelic

4. Warm blooded animal

a. (1) and (2) b. (2) and (3) c. (3) and (4) d. (1) and (4)
e. answer not known

SLpdHHemI_euBmled oaTaleeuBmled STerLLTg Lnilmerdh 0HMNHosbHHELD.
1. 158gmOp. .0flé FpIbysd

2. QFzeodel

3. wis ouflev Hé

4. Qo IS5 @NeVmIGH 6N

a. 1 oppb 2 b. 2 wBmid 3 C. 3 Bpd 4
d. 1 wBpwn 4 e. alenL GOxMuwalevensv

None of the following is a Lok Sabha Session?
a. The Monsoon Session b. The Summer Session
c. The Winter Session d. The budget Session

e. Answer not known
Lelreumeueiaumsled 61gl Lo&&6nenel dnl BHOSTLT I6060?

a. L(HOUBTeD Fnl L HOSBTLIT b. Gament HMev gal L HOBTLIT
C. GONMTHTL &nl L HOIGTLIT d. QU6 — OlF6v6) Y ETL:
Gl L SHOSHTLIT

e. alewL OFMwalsvensy
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45.

46.

47.

48.

49.

World’s First Malaria Vaccine

a. Mosquirix b. Bedaquiline

c. Clofazimine d. Cycloserine

e. Answer not known

® eualel (PpHev Geuflwimg HBUILLS

a. 1ero@Maerd b. QuULTGMmevesT
C. G@GenmumdhdenLD6sT d. evasBenmGlaes
e. alemL OFflwalevensv

Which one of the following language was not added in the 8t schedule of
the constitution by the 71t Amendment act 19927
a. Dongri b. Konkani c. Manipuri d. Nepali

e. Answer not known

SpHHemIL.  OmhsemeT 61gh  7l-aud  HHHHF FLLID  1992-a1  epeLD
SIFFlwevenioliler 8-augkl i L aueneniuiled GFTHBLILIL alleLensv?

a. G b. Qarmhise c. wewflyfl d. Gmumer

e. alemL OFHfwalevensv

Exposure to __ light may accelerate aging.

a. Blue b. Green c. Red d. Yellow
e. Answer not known

BB @el auwms IMsLGSS FmEL.

a. [pevld b. usemns c. flauy d. wehaeir

e. alewL Ozflwalsdenso

Central information commission comes under which ministry?
a. Ministry of Home affairs

b. Ministry of Personal

c. Ministry of social and empowerment

d. Ministry of Broadcasting

e. Answer not known

HHW HBEUD HLEMEWILILD 61hEH DMIDFFHHHE S aUHBBSHI?
a. 2 GIGHIMMB DWMFFFHLD

. LenllWImeniT eV DIGNIDFFHID

FPBHS DIH BTN HHE0 DIMDFFHLD

QeMLTLIL SIMOFFHLID

alenL G fwailsensv

o QN o

The key used to rename the selected file or folder is
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50.

51.

52.

53.

54.

a. F4 b. F1 c. F3 d. F2

e. Answer not known

Gaxitey Guiwiu’ L Gsmin Slevevdl GamiienmuleT GLWeD] WIBML  LUuIeTLIHLD
QUITS HTeot

a. F4 b. F1 c. F3 d. F2 e. aleL Oz fuwalsvenev

When was the National Early Childhood Care and Education (NECCE)
Policy

a. 2013 b. 2017 c. 2018 d. 2019 e. Answer not known
Cxrflw UFHMRIGHMSHH6T UTHISTIL  BBID  HLVAISHHI LD  el6eleUTewI(H
OSHTLMISLILIL L I?

a. 2013 b. 2017 c. 2018 d. 2019 e. allewL Oz fluialsdeney

Gustave -Trouve Award ( 2020) was received by

a.Surya b.Yujan c. Aditya d. Athikesav e. Answer not known
2020 Samen GewLel Lepet almeng (Gustave -Trouve Award) Gubmpeur
u?

a. @ b. wmer ¢ epHduim d. e15Cxsg6l
e. alewL G fwalsdenev

What is the term used to denote the coexistence of two different features
in an economy?

a. Technology b. Dependency

c. Dualism d. Inequality

e. Answer not known

@rewi pmplevd Coumil L FHeitenodemen CHTLIHUBGSHHS GSBIILS  eTeleuTs
GBUIL LGS BSI?

a. [ILLIb b. b L

C. BILMLSH HeGTeLD d. Fwideiento

e. allewL  OFflwialsvensv.

How many persons were registered their names in electoral in the 17t
lokshaba election in 20197
a. 80 crores b. 84 crores c. 89 crores d. 90 crores

e. Answer not known

2019, 17-6ug dHenenad  BHTHeUleL  auTHSTNTHNTS  UHe|  OFUIH
O@TemTL_aITH61l60T  6T6mT60NHemE 61616667

a. 80 Gy b. 84 Garmig c. 89 Gamg d. 90 Gamg

e. allewL  OFfuwealedensv

Assertion (A):  Productivity of land in India is low.
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55.

56.

57.

Reason (R): Small farmers are not motivated to produce more.

a. (A)istrue (R) is false

b. Both (A) and (R) are true, and (R) is the correct explanation of (A)

c. (A)is false (R) is true

d. Both (A) and (R) are true but (R) is not the correct explanation of (A)

e. Answer not known

FgBpl (A): @bHwmalsd HeodHear 2 BLUSHS HWET GHOBAUTH 2 6iTeTg).

aryenrd (R): fp efleugmuiser oiFes o BusHFH QFuin eas@Gailllly Eevenev.

a. (A) sfl spemed (R) seuml

b. (A) wspd (R) @yewigd &f, Coeid (R) eewg (A) — olBs
gilwmer alleeaLd

c. (A) saup spemed (R) &l

d. (A) oBpw (R) @renwp &M, epemsd (R) esg (A)-alpg aflwmer
Q168806060

e. alowL OFflwalsvensy

How much BRICS summit were conducted till the year 2020?

a. 10 b. 11 c.12 d.13

e. Answer not known

2020-9u10 Suemwi® auewy eihGHemenr BRICS omprBsen pevl GLbBmieTeng)?
a. 10 b. 11 c.12 d. 13 e. allewL Gz fualsdensy

For which set of numbers do the mean, median and mode all have the
same value?

a.2,2,2,4 b.1,3,3,3,5 c.1,1,2,56 d.1,1,2,1,5

e. Answer not known

Ueieumd etad1 OFHm@HFHHerile0 gymafl, QevLBlenev wBBID (WHB @CF WwHILTS
SIMWUD OFHTHSH 61517

a.2,2,2,4 b.1,3,3,3,5 c.1,1,2,56 d.1,1,2,1,5

e. allewL  OFflwalsvensv

Let m be the mid point and b be the upper limit of a class in a continuous
frequency distribution. The lower limit of the class is

a. 2m-b b. 2m+b c.m-b d. m-2b

e. Answer not known

ewwowiieell 1, QHTLT Bawbeuswt uFauelsasr @ LifMaldr Gusd eedemev ‘b’
oTeNleL DIHEHT SLD 6T606MEV

a.2m-b  b.2m+b c.m-b d. m-2b e. el Gxfuwalsvensv
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58.

59.

60.

61.

62.

A rod has a mass of 100 g and length 1 m. Its radius of gyration
perpendicular to its length and passing through its centre of gravity is

a. 0.2886 m b. 2.886 m c. 0.02886 m d. 0.2688 m

e. Answer not known

100 & Peopwyd 1 15 pHemupld o emLul SHWIBH @eIsledl  HeTHHME
CFmIGHSHHTHD W Wb  auflunsa|ld CFId SiFmg CUTHSHS
sIOBS oyyid

a. 0.2886 15 b. 2.886 1 c. 0.02886 15 d. 0.2688 15

e. alewL Gxflwalsdenev

Thevalueof (13+ 23+ 33+ ....+15%) - (1+2+3+....+15)is

a. (13+25+33+....+15%) - (1+2+3+....+15) ulen w1 eresrenr?
14400b. 14200 ¢.14280 d.14520 e.alwL Gafueisdamsv
14400 b. 14200 c. 14280 d. 14520

e. Answer not known

If1+2+3+....+n = 666 then find n.

a. 37 b. 36 c. 38 d. 35
e. Answer not known

1+2+3+....+n = 666 eelle, N B6iT AHNIL| HTEWIDH

a. 37 b. 36 c. 38 d. 35 e. allenL  GaMNuialsvensv
Liberalization providing freedom to

a. Private Sector b. Industrial Sector

c. International trade d. Agriculture Sector

e. Answer not known

SHTTTEMTOUIOTHHE0 FHHATLD GULDHIGH IS

a. SHNWMT FHOBHG) b. Gampsd HiMBHS
C. UMl (h euUemIBHHMBG d. Gauenmewt HiemBEG
e. alewL Oz flwalsdenso

What is the name of the latest earth observation satellite launched by
ISRO (7t November 2020) from Sriharikoto?

a. GSAT-30 b. Cartosat-3 c. GSAT-31 d. EOS-01
e. Answer not known

2020  meubur 70  wfamfCamlLmeledmbad @ ISRO-eumed  eflewremiled
CFasHHILL L Lal sewisTenlliy CFwmenssGsmealler OLWIT eTeire?

a. GSAT-30 b. Cartosat-3 c. GSAT-31 d. EOS-01
e. allew  Oxfuwealedensv
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63.

64.

65.

66.

67.

Population increasing rate in the year 1951 decreases from 1.33% to 1.25%
so this year is called as

a. Year of decreasing b. Year of shortage

c. Year of small divide d. Year of backward

e. Answer not known

1951-84I0  SLemTgeD 1DHH6NT OFHTensd GLUmEBs aldzmd 1.33% Owmba 1.25%
B GOBHHB TaCel QbPH WG BeluTnl SIMPSELILIGSBSI.

a. gfley Sy em1H b. @ombe; SewiG c. dp eney SLemiH
d. deismadlu suemih e ol O flwalsdensv

In November 2020, very severe cyclonic storm ‘Nivar’ made its landfall
near

a. Gulf of Mannar b. Chennai

c. Marakkanam d. Pudukkottai

e. Answer not known

BeUDLIT 2020-60 o (Houmedl I8 Sl Luled HleuT Hejenul HLbEH S LD

a. LDGHTGITIT GUEMGITEFHLIT b. Gaeene

C. LDJSBHTEHILD d. usIBEGHT ML

e. alemL OFHfwealsdensv

The concept of economic planning in India Fiver Year Plan is derived
from
a. America b. England . Russia (then USSR) d. France

e. Answer not known

OhHwmaled mbHHTmIhdH HLmISeT eutuleomsll GQUIHTHTT  HLLLOL mev
GoBe®TeNTEHD (Lpewm MBS (HHSH SHHalbSUILL L g7

a. 9I6WM&HasT b. @rdeompba . whmaw Bsmalwg Fagwm (USSR)

d. ymesterd e. alenL Oxflwealsvemev

When was the Article No. 370 removed from the Indian Constitution?
a. 5t January 2019 b. 5t March 2019

c. 5t August 2019 d. 5th December 2019

e. Answer not known

AbhHw SFweoemol el mbal 370-6u H FTHSH ICUTIDS BHHSIUL L HI?
a. 5 saeul 2019 b. 5 writg 2019

c. 5 gymeror. 2019 d. 5 awur 2019

e. alemL OFflwalevensv

Choose the incorrect statement:
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68.

69.

70.

I A Kisan credit card is aimed to have quick and affordable credit to
farmers.
I Agricultural Produce Market Committee is a non-statutory body
III To promote agricultural activities is the function of APMC
IV APMC provides market led extension services to farmer
a.land II b. IIl and IV c. IV only d. IT only
e. Answer not known
QUT(HSHBHLOMM  FBNSleN6T FH6wTL1515.
I o ppair sLear SemL  alaugmulseEndd aldJaumsald HE&HSCHBLAD
SL6T GUPMRIGLD GIBLITLTEGHLD
II efeusmu GuIBLsepssTanr SmsTdSGw (APMC) @m &lLliTaorer
SIGMIDLIL| DI6V6V
III Geuenmewst BLagdhmBHmen 2adb@Gallilig APMC — &1 ueiwim@id
IV APMC speng aribs alflaurss Coenausene allpmIGSHBS)
a. [ opmub 11 b. Il wmpn 1V
c. IV ol @b d. Il w@Gw
e. allewL  OFflwealedensv

The floating national park is situated in

a. West Bengal b. Manipur c. Kerala

d. Nagaland e. Answer not known

WHHGD CHFWIIYBIST 6TmhIG)6iTeTg?

a. GuBg euBIETENLD b. wewfliiyT c. Gayomm  d. BTHEOTHSI

e. alewL G fluwalsemev

Who was called as ‘Iron Man of India’?

a. Nehru b. Vallabhai Patel c. Rajendra Prasad

d. Rajaji e. Answer not known

@bhHwneler @mL LNST 616 DienDSHSLILIGLGUT WITT?

a. Gmwm b. eueveoLmut LIGL 6D c. QmBxhgly Ursns
d. @yregre)) e. alenL Oxflwealsvemev

In which sport S. Tlavazhagi excels

a. Chess b. Wrestling c. Carrom d. Tennis

e. Answer not known

(SCHOOL BOOK)

OF. Beneupsl Fmpba alenmisul alenemuiTl (b

a. GFerd b. eduHHID c. Gayid d. OLetesierd

e. allewL  OFfuwealedensv
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71.

72.

73.

74.

The author of the book “Indian Unrest” was

a. Lala Lajpat Rai b. Valentine Chirol

c. Tilak d. Annie Besant

e. Answer not known

"Indian Unrest" siaim LsHSHoHHen opdflui

a. 6UTEVT 6URLITTU] b. GeusvemienLeir &\GyTerI

C. HevsdT d. seenouses

e. alemL OFflwealevenso

India’s first indigenously constructed nuclear submarine that was
commissioned into service in August 2016 was?

a. INS Vikramadithya b. INS Viraat c. INS Sindurakshah

d. INS Arihant e. Answer not known

AhFHwmaled 2 6hT 960 SLLmWSSIULH 2016 sevl wigh CFemeuuisd
BmeSHLILLL Slgwm) BTSN S SO 617

a. £3.61631.6T610. A BTLOT S ST b. &.e1601.61610. ey

C. m.o16n.61610. FbBHITHOT d. e.er60m.616000. Sflamihd

e. allewL  OFflwalsvensy

What was the name given to the boycott of schools and colleges
announced by Gandhiji?

a. Civil Disobedience Movement b. Quit India Movement

c. Non-Cooperation Movement d. Champaran Satyagraha

e. Answer not known

STHIOT  SMHHY  SleuTdenmed Oamewi® euglul L ueitedl,  &evemflabel,
FLLIOGB  ypsseiiyl CurgmLseHme GuwiT ereiieo?

a. FLLIDEBINIY SUuisHsHID b. QeusitenenuiBean GeueaGuim BuisesID

C. PHJIMPUITENLD BUISHSELD d. awuyrer Gumym LD

e. alemL OFHfwalevensv

Identify the ports of India labelled as 1,2,3 and 4 in the given Rough map
of India.
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75.

76.

77.

a. Haldia, Paradeep , Masulipatinam, Tuticorin
b. Paradeep, Haldia, Masulipatinam, Tuticorin

c. Tuticorin, Masulipatinam, Paradeep , Haldia
d. Masulipatinam, Tuticorin, Haldia, Paradeep

e. Answer not known

Camhsaliul_Beten CaHmymw @b&Hw euedIULSH60 1, 2, 3 1oBLID 4 eleiml
G SSLILLBeiTen DbHUI HIDB(LPSHIHEN6TH  H6vTL_il
a. amTeLIQWIT, UMISHL, L@GEILLLIQ6D, SHTHHISESIQ
b. umygSll, ammedIQUIT, D@L IQETD, HTHHIHGIQ
C. HMHBHIHGSIQ, OG60LILLIQ6ID, LTTSHLI, QBTe0QuUIT
d. @& 19eTD, BHTHHIHGIQ, ABTEIQUIT, LTSI
e. alemL G flwalevensv

The Home Rule Movement in South India was started by
a. Tilak b. Annie Besant

c. B.P. Wadia d. Col H.S. Olcott

e. Answer not known

OpaabaHumaled Sl dl @uisbsld WTITED HieUssLILL L SI?
a. Hevsit b. ojetelCOLFemI

C. 0. eumguum d. Col er&.e1610. &ye0HTL
e. alewL Qg fweailsbenev

A metallic sphere of radius 16 cm is melted and recast into small spheres
each of radius 2 cm. How many small spheres can be obtained?
a. 412 b. 512 c. 521 d. 421

e. Answer not known
16 Qa0 guypeiten T o Geomslubg, 2 HSSIULG 2 6F.0 Suy@psier b
LI SHIBEMTHBLILLLT60 615HHeN6eT LbHSHIH6NT SHlenLd@HL?

a. 412 b. 512 c. 521 d. 421 e. alewL  Gxfualsdeney

A sphere, a cylinder and a cone are of the same radius, where as cone and
cylinder are of same height. Find the ratio of their curved surface areas.

a. 2J2:42:1 b. 2:1:42 c.2:42:1 d. 242:1:42

e. Answer not known

R Gsmernd, 2 (HeweT WBMID &nlbl EBWUBMIT SLIMIBET FIOD.  FnlbL]
BB o (Hewenulledl o _WIImIGET  OIHHMG ~— FOD  eTeiew,  Dleumnslest
auemeTUTLIL|S6M6T all&HIHID HTewIsb.

a. 242:42:1 b.2:1:\/§ C.22\/§:1
d. 242:1:\2 e. alenL  Gafuwialsvensy
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78.

79.

80.

81.

If %=% then (x + 5):(y + 8) is equal to

a.3:5 b.13:8 c.8:5 d.5:8

e. Answer not known

%=% siedfled (x +5):(y + 8) @ FlowTaNg.

a.3:5 b.13:8 ¢ 8:5 d.5:8 e. alenL  Gafuwialsvensv

A mat of length 180 m is made by 15 women in 12 days. How long will it
take for 32 women to make a mat of length 512m?

a. 13 b. 14 c.15 d. 16

e. Answer not known

180 5 men(peiten e@H UTUlenest 15 Guewide 12 BT Hefled GFuigett. 512 1S
Be(welTenn @h UTullenen 32 OUewiseT GFUILl 616HHMT BT H6T DLEGHLD?

a.13 b. 14 c. 15 d.16 e. allowL O fwalsbensy

The product of 2 two digit numbers is 300 and their HCF is 5 what are the
numbers?
a.15,20 b. 10, 20 c. 15,25 d. 10, 15

e. Answer not known
Brenih Ffevdd elewidbeenr GLIHBSMBLVET 300 LOBBID SleuBmler 1B5.6u.eu. 5
6166V, SIIORIGIBIHEIT UWITen6?

a.15,20 b.10,20 «¢. 15,25 d.10,15 e. el Gxfuwealsveneo

Which of the following statement has the Risk Reduction measures for
cyclone?

I. Ignore rumors, stay calm don’t be panic.

II. Keep your documents and valuables in water proof containers.

III. Prepare an emergency kit’s with essential items for survival

IV. Switch on all the electrical appliance

a. I, IT and III are correct b.Iand Il are correct c¢. III and IV are
correct

d. IV only correct e. Answer not known

CarhéssiulBeten 6bhdh euTdSlwd Luwedear Gurg wewmm Geuewmrguwl SjUITUl

GxTay GHMMLIL [BL AUGEHENHBHEI

[ GapmauwBm eaugHbhHHM6MUD, LSBBHMBUID HITHH0 DIHIDH BTHH|ID

IT psAuIDTaT  DLAIETRIGMETUID IOBBID 2 L MIDSE6NTUID  HemTeniT  L|STH
UL &HHO USHHTOTSH MEUSHB|LD

[l 2 ufit eump Sleusy 2 el QU L&SHmH SUTTHMEUT MaIHH(HBHD

IV simenisgl 106315T) FTHemiseiet O6T@enemtlIenLIL|D HiewNgoHd GeuemrLmiD.

a. [, Il wmpid I sfwrerene b. I wigid II sfwrerene

c. Il ommd IV gilumerene d. IV wl @G sflwrerns
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82.

83.

84.

e. alowL  OFMwalsdensy

Who has been hailed the ambassador of Hindu Muslim unity by Sarojini?
a. Mahatma Gandhi b. Jawaharlal Nehru
c. Jinnah d. Motilala Nehru

e. Answer not known

@Obhasl  (Wpevelld  @Bmimwuler  HGleuT el FEITRYeNWITEd  LISLOTLD
G L LIOLIMMeuT  wimit?

a. ID&THIOT HMH) b. maiamiteored GmH(H

C. gdledreurT d. Gurdlevred Gm(m

e. alewL Gy flwailsbenev

Match the following rivers with its place of origin using the codes given:

Rivers Place of Origin
A. The Indus 1. Gangotri
B. The Brahmaputra 2. Chemayungdung
C. The Ganga 3. Mahabaleshwar
D. The Krishna 4. Manasarovar
A B C D
a. 4 1 2 3
b. 3 2 4 1
C. 4 1 3 2
d. 2 3 4 1
e. Answer not known

SBp OEThHSHULL(BeiTen [HHBMT DIGHeT o BUSHEH UGHD B msCenth
CuTBrSE GMluibsemen LWILIGSHF alenL uwleldseab

I HeIT ® BUSHWTGD L Lb
A. bzl B 1. aRBHTHM
B. shms B 2. QFDOTUBIL MBI
C. drbwoysdy B 3. aTLGaZ6IT
D. dmageom ma 4. menF@ymeul
A B C D
a. 4 1 2 3
b. 3 2 4 1
C. 4 1 3 2
d 2 3 4 1
e. alenL G Muialevensv

Assertion (A):  V.O. Chidambaram established a Swadeshi Steam
Navigation Company
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85.

86.

Reason (R): He wanted to oppose the monopoly of the British in
navigation through the coast.

(A) and (R) are true and (R) is the correct explanation of (A).

(A) and (R) are true and (R) is not the correct explanation of (A).

(A) is correct and (R) is wrong

(A) is wrong and (R) is correct

e. Answer not known

MY : aLe_dsburd &6sHd S0 HBIeUTIHMSH OHTLMIS 6.

sMyenild: @QbFHwd SLBEmIHeTed S mHGowTsaier (LPpBBITenUNemaT  Di6uT
THTHHTT.

a. GmBml LBEID STJewID &, STJeID Fa@ens alendEG BBl

b. By wB@mID sMyewid Ff, SLEITe, HTIMID BB alenohsals0ame0

C. &aBm &M, STy SHeusl

d. saBm Seuml, &myewid &

a.
b.
C.
d.

Consider the following statements and select the correct answer:
Assertion (A):  The developed countries have a low growth rate of
population.

Reason (R): African countries are having highest growth rate of
population

(A) and (R) are correct and (R) is the correct explanation of (A)

(A) and (R) are correct but (R) is not the correct explanation of (A)

(A) is true but (R) is false

(A) is false but (R) is true

e. Answer not known
BIPHHEWIL. UTHFH RIS HauadlHdl Fllwmer alenLenuld GCHiThHoHM.

a.
b.
C.
d.

aBm (A) : euenhbs BIGHET GeOBeUT LSEHTOBTNS  GuTFHMUIS
Osmemi(heiTen .
smgenid  (R):  ounifiss BiGseT ISHGW0TRN  DEHTOHTNS  eu6TTFHemuld
Osmemi(heiTen .
a. (A) wpp (R) @yewew &f, Gweubd (R) eewug (A) alng afwmer
allendbald

b. (A) wppd (R) Sremewn &M, semed (R) easug (A) olbg sfwmer
aleNSHaD $I606V

c. (A) &M suemmed (R) seum

d. (A) seoup spemed (R) &

e. alewL G flwalsdenev

The royal secretariat of Pandya Kingdom was known as

a. Mangalam b. Kudi
c. Eluttu-Mandapam d. Vala-nadu
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87.

88.

89.

e. Answer not known

umentiguwl Guydlenr OI&HEF GFUIOHLD ol Bl L )
a. LDMIG6VLD b. &© C. 61(IpSHS| LDGWTL LILD d. euenmpn®
e. allewL g fluwailsvensv

Which method has been used to identified biodiversity through remote

sensing and GIS?
a. Data analysis b. Gap analysis
c. Statistical analysis d. Scientific analysis

e. Answer not known

OpTemev HiewiamientTa] WBMID Ualulwed SHFHaued BTG cpeoons o ulfer
LIGTENLOWIL] LIGSHenUl SIeHLWITETD SHTel 2 (HauThSUUL L (Lpens 61517

a. el UGUUTWI®] (L) b. 8L Geuefl(l LGLILTUIR] (LPen3

c. yerealeuglt uglutwie] pemp  d. @pfelwed uGlumuie] (Wwens

e. alemL G flualedenev

Which one is not matched correctly?

a. Staff Selection Board - 1924

b. Andhra University - 1925

c. Annamalai University - 1929

d. Hindu Religious Endowment Act - 1936

e. Answer not known

abd Bewent Fflwms CUTHHSHOE0N60

a. uenflwment BzTey eumfuid -1924

b. @bAIT LEOBMEIHIDHID - 1925

C. S|GNIGNITLDEN6V LIGDEHENEVEHHIPHID -1929

d. @psiFow SmHmeOWF FULID - 1936

e. alewL O flwealsdenso

Assertion (A) The Third Battle of Panipat in 1761, paved the way
for the rise of the British Power in India.

Reason (R) : The defeat in the battle dealt a severe blow to the

Marathas and the Mughal empire.
(A) is true, (R) is the correct explanation of (A)
(A) is true, (R) is false
Both (A) and (R) are false
(A) is true, (R) is not the correct explanation of (A)
e. Answer not known
amml (A): epaipTd umeliiul Gunt symdlGeowiflasr SIHSTT 611 FHE)
PGS SSEI-

a.
b.
C.
d.
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smyenid (R): 858xme0a]l  LITHSHWHBGWD, (PHEOTW(HSGHD e  Oufw
DFHTFL WS CBTHHDHI.

a. &aBp &M : sMyewid SaBplear Fflwmer allendsld oG

b. gmBm Ff: smyewid SHeum

C. &aBUl LOBHID SHTIENID SHeUDBTETEN6Y

d. emmpm of, smyewid ga@pier sflwmer elendsld 96060

e. alewL OFfwalsdensy

Match the following

A. New Health Insurance Scheme 1.2011

B. Amma Arokya Scheme 2.2013

C. AMMA Scheme 3. 2016

D. THAI Scheme 4.2014
A B C D

a. i 3 2 1

b. 3 4 1 2

C. 4 3 1 2

d 2 1 3 4

e. Answer not known

QUITHSHHISH:

A. ygdw wmssen ST (S H LD 1. 2011

B. subwor oi8ymésw S 2. 2013

C. “oubior” FHiLib 3. 2016

D. s &b 4. 2014
A B C D

a. 4 3 2 1

b. 3 4 1 2

C 4 3 1 2

d 2 1 3 4

e. alewL OFflwalsdenso

Which one of the following incorrectly paired?

a. Mirabai - Maharastra

b. Chaitanya Bengal

c. Ramananda Prayag

d. Namadeva - Maharashtra

e. Answer not known

SIS UBMBIGTET 61FH HUBTHL GUTHSHSLILIL (H6ITeTHI.
a. wymumul - LDSHTTTARNQTLD
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92.

93.

94.

b. enggetui - QUBIBTENTLD
C. @mOTeIHSHT - LITWImend
d. mmoBmHeu - LDSBMTTTAIQT
e. allewL  OFfwealedensv

Which of the following fact is false?

a. Chennai is the health capital of India

b. Tamil Nadu have 7 Agro Climatic Zone

c. Largest Paper Mill is at Karur

d. Tamil Nadu have the first place in rubber production
e. Answer not known

LNeiTaU(BHD SnBmIHerlled 61& Haummend)?

a. Goaiewer, @hHWTale LHSHHING HMEVHSBJILD

b. s0Ps5H60 61 BeuenTeamT HTCUH M6V LDGIIL GUHIGBET 2 _GITEIT.
c. Waslouflw sredls 2 BusHEH Bneuald Smpifled o slengl

d. @it 2 BusHuied FHOWSID 1WPHILID CUBBIGTETHI

e. alewL OFflwalsensy

National Archives of India (NAI) is located in

a. Kolkata b. Mumbai c. Chennai d. Delhi

e. Answer not known

Cxpd DRIMISBTLILIGLD DILObHEHI6TEN @)L LD

a. OaTeLBHBIT b. pibemLs C. GFaener d. GLevel
e. alenL OFflwialsbensv

Which of the following is wrongly matched?

a. Gateway of Tamil Nadu - Thoothukudi
b. Home Textile City - Erode

c. Steel City - Salem

d. Pump City - Coimbatore

e. Answer not known
BIDHHEWIL.  BeneniHaied 615 HUBTHL CUTHGHSLILL (Beieng)?

a. SOUDHTL 96T [HIGHLOUTUTED - HMHHIGHGSIQ
b. maef 2 BuSE HHD - wGyn®

C. @By BB - BgoevlD

d. b1 BaBFID - GamwIbL ST

e. alewL OFMwalsvensy
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95.

96.

97.

98.

99.

The number of number-pairs lying between 40 and 100 with their H.C.F.
is 15 is

a.3 b. 4 c.5 d.6

e. Answer not known

40 (pFHev 100 6UEMTUGTEN 6TemIH6N60 6T Hemen elens BGmgsefent 16.CLL6u 15
U5 B(HBHGLD.

a.3 b.4 c.5 d.6 e. el Gxfuwalsveneo

894x894x894—356x356x356:$
8.94x8.94 +8.94x3.56 + 3.56 X 3.56
a. 0.538 b. 5.38 c. 0.0538 d. 53.8

e. Answer not known
8.94x894x894-3.56x3.56x3.56 .

6T LDFHIIL 6Te6dTenT?
8.94x8.94 +8.94x3.56+ 3.56 x 3.56
a. 0.538 b. 5.38 c. 0.0538 d. 53.8

e. allewL  OFflwealedensv

The value of {%—(_—3)}[_—5—@} is

The value of

2 3
a. 1E b. = & £ d. 34
6 6 3 3
e. Answer not known
4 (B\[5,30] 5 oase
3\ 2 3 12 H
a. 1§ b. 13 C. 4 d. —4
6 6 3 3

e. allewL  OFflwalsvensv

The number of times an observation occurs in the given data is called
a. Tally marks b. Data c. Frequency d. Numbers

e. Answer not known

CaThedaIULLS FHTaH6Med @h WHL] IHHM (LB  U(HBIMBHI 616315
FBleUGH DIDLOSHLILNeoT

a. CrTaBaT_ (e Gpiser b. sye

C. HBIDOGIGHT d. eewimeir e. alewl GHfuialsency

Two numbers are in the ratio 5 : 7. If the sum of these numbers is 108, then

the larger of these two numbers is
a. 63 b. 49 c.35 d. 42
e. Answer not known
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100.

B elemisele alSFHD 5 : 7 elbeuswideaiear gnpHeo 108 eleied Sleuall(
oTemireriey Guifiul  ereuor
a. 63 b. 49 c. 35 d. 42 e. el Gxfuwalsveneo

The line graph shows the annual percent profit earned by a company
during the period 1995-2000. Study the line graph and answer the
following:

If the expenditure in 2000 is 25% more than the expenditure in 1997, then
the income in 1997 is what per cent less than the income in 2000?

Income - Expenditure

% Profit = x 100

Expenditure

704

60 (65
7 (60)

A
50 /7 (65) \/
P
? 4

40

Profit percentage

30

204

1995 1906 1997 1998 1999 2000

Years

a.225%  b.25% c.275% d.31.25% e. Answer not known

Carhédasiu’ L Cam B eauged eudIULLD @ BpeuearsHear 1995 — 2000 b
WIBH BeuTll FHIHHMS GSBILUSTSHD. BDHHIaumevd Osmenih 2000 b
oLemTge  OFevalerd 1997 il Siewige OFevaiaidHmsd ol 25¢p DIHSD
aedfled 2000 SLewenL S STLIQEIID 1997 LD DLW  QU(HLOTET  FHATHLD
616IGUGTTEY (GH6mmey?

QUHLOTEID - GFevaileurid <100

% Seomuib = O\FevalesIld

a.22.5% b. 25% c.275% d.31.25% e. alewL Qzfweaisoenso
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